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% y=x"2 0000
x=0:0.1:10;
y=x."2;
plot(x,y)

% y=sin(x) 0DO0O0O
x=0:0.1:10;
y=sin(x);
plot(x,y)

Octave 00 gnuplot 000000000 0ODOODOOOO
gset term postscript; gset output "foo.ps"; replot
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contour(z, OO ODODOOO ,x,y)
n=10; x=(-1:1/n:1)’; y=(-1:1/n:1); z=x*y; contour(z,10,x,y)

mesh(x,y,z) 0 300000
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real(), imag(), conj (), arg(), angle() DO OO ODOO
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t="1/(i+j-1)"
for i=1:n

for j=1:n
a(i,j)=eval(t);
end

end
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format long
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format free googd
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U 2, save -mat-binary DU OO0 OO0 1 000 2

3 Octave

® octave ——traditional OO 00 octave —--braindead 0 MATLAB OO OOOO

e octave>> help -i U0

e Octave 0O sparse 00000000 (ODDO)O

e Octave 0D OODODOOO gnuplot 0O0D0D0OOO0OO0ODOOOMATLAB, Scilab 0O
OO00oOooDOoooo

4 Scilab
O00OD00000 sparse() U000 AspO0DO0OO0O0O0OOAspx=b 000000
[h,rk]=lufact(Asp); x=lusolve(h,b); ludel(h);
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## 00000000000D00000

function retval = eigen_square(n)
h = 1/n;
B=diag(ones(n-2,1),1)+diag(ones(n-2,1),-1);
I=eye(n-1,n-1);
A=-n*xnx* (-4 % kron(I,I) + kron(B,I) + kron(I,B));
retval = eig(A);

endfunction
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function [v,lambda] = eigen_square2(n)
h = 1/n;
B=diag(ones(n-2,1),1)+diag(ones(n-2,1),-1);
I=eye(n-1,n-1);

A=-n*n* (-4 * kron(I,I) + kron(B,I) + kron(I,B));
[v,lambda] = eig(A);
endfunction
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octave:1> eigen_square(10)
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function retval = eigen_square3(n)
h = 1/n;
B=sparse(diag(ones(n-2,1),1)+diag(ones(n-2,1),-1));
I=speye(n-1,n-1);
A=-nx*n=x* (-4 % kron(I,I) + kron(B,I) + kron(I,B));
retval = spec(A);
endfunction
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-—>A =-nx*xn* (-4 % kron(I,I) + kron(B,I) + kron(I,B));
) l-—error 246
impossible to overload this function for given argument type(s)

undefined function %sp_kronm
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# 00000000000 00000 (Scilab version)

function retval = eigen_square3(n)
B=diag(ones(n-2,1),1)+diag(ones(n-2,1),-1);
I=eye(n-1,n-1);
A=nx*n* (4 x kron(I,I) - kron(B,I) - kron(I,B));
retval = spec(A);

endfunction
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